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To build a house for her - nva v Ry

Overview

The X773 states that ten measures of haughtiness (Md3) descended into this world,
%%y took nine measures and one measure for the rest of the world. The X713 asked,
but did not mo3 descend to 223, and it cites a P105 which states;' 7737] KIX) *°Y KK
T VIR 12 ADRT DR AIREN 777007 99103 0’912 7307) 09192 M) NiRyl 2wy 2w
TIN2 N3 A% NI DR MR LIDORT DR NIDDI 70 I 02 1290 IR9RT PR NR) .0nYs
21 2ay3wi. The o*w1 onw refer to 791A and M7 Moa, which descended to 92a. The
X nx answered; indeed it descended to 722, however it wound up in 07°3. The X713
says we can infer this from the 105 which states n°2 7% n12%. Our MoOIN cites

several explanations, what is the inference from n°a 7% n125.

- YINaY 1A HNYY N33 X “1100 133 XYY NY 1329 *or0npa v
“''w explained that we infer it from the words '7® nwua%' (to build for it), but in
actuality they did not build, like the P05 which states wash ;22 gabw 712% IR

(then 1192 would build an altar for 23 (the idol of axw) -
- 7133 X9 *M132Y WA (3,1 97 naw) 192N

And the X7 interprets it to mean, he wanted to build, but he did not build —

mooIn offers an alternate explanation:
= 199N 139N NNNX NIN NIYIT ¥IWN 10T 29N XD 1Y 9N KRR R

And some explain; since it says 'i®' (to it), in the singular and it is not written
1% (to them) in the plural, this indicates that there was only one (who had a
house in 922), and that is 7123171, but not moa.

mooIn disagrees with this interpretation:
=19 MY 929V W NT U TN PYY NN RN NWIDN Y3 NNT NN XD

And it does not seem correct, for in the entire 7w=p there, he refers to the 72°8,

Uxo-n,7 0o,

2991w is 922. See v-X,X° (M) MWK

3 XpP>7 1"72 (in the IR NWY).

* This is an addition of nvoIN; it is not found in (our) >"wA.

5180 % 270,

® This is inferred since the word 712> (in the future tense) is used; meaning that he planned on building it. Here too
when it says n113, but it does not say 113, it means that the house (for n103) was never built in 222 (but went to 0?°v).
[The x7m1 there actually rejects this inference from 712>, w"»v.] See ‘Thinking it over’.

RS (in the first interpretation), see footnote # 3.
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in the singular so therefore it is proper to write 7% n1aY%, and we cannot infer
anything from that.

mooIn offers a final interpretation.
- *Nrn 2991 NJ2 1Y 25N210 0XVWH91) U

And others explain that the inference is since the word 17 is written without a
N''57 poen -

- 47983 XY 19 M0 0NN THR AN AYHYN 93 N7N 75919 XIPNIY NY a4
For every 7 in the 232105 are R'';7 p5» except for three, and this is one of the
three places, so 77 without a X"77 p*on is like X% with an 7'"»X (meaning no [it was not

built]) -
— 110y NY 09PN NYT )PMNYN)

And the verse teaches us (by omitting the X" 2°5n) that this name did not last.
oYV NY 0PN XDV 23D N9 NINY (May samma) 1IYA NN NY NXIP ) sy ware \F))
|

And so did >"'w explain regarding w2 n21 7% X" that the 1% is ‘soft’ (no
R'"71 pon), because this name (17211) did not last.

Summary
The inference is from either; a. 7732 X1 N2, b. 7% and not 1%, ¢. no X"7 P*On

meaning X?. Mooin disagrees with ‘b’.

Thinking it over
1. (Evenlz) if we can assume that '712” means 7312 X9 N12% wpa, how does that
prove that m13% means (n112%) 12 X721

2. According to the last explanation; did 79111 remain in 222"

S AX"T 7°on (a dot in a final "7 of a word) indicates ‘for her’. 7% with a X"77 °2 means for her. 7w°X with a R"77 p>on
means her husband, as opposed to 7w without a X"77 25 means a woman.

’ The w"w" amends this to read ‘pn' (instead of aw [which seemingly has no meaning]); that it did not remain in
this place (222).

' Tronically *"wA there (after bringing this explanation) concludes (112 7% MK™) ,72 YT M22N MW YN 72 237m
n°2 7% N112%. Meaning that there we cannot say that 777 aw 72 2°pn1 R?, not like NdOIN states here.

90 pos mun.

12 See footnote # 6 [in the bracketed area].

" See TN "waon XN # 219-22.

' See mwn nbm.
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